UNIT 6: IRRATIONAL MATH  ......-
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Write each number in the correct location on the Venn Diagram of the real number system. Each number

should be written only once. T ;o%('bl.e,) e:{a_l_&d'_e .4
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Put a check mark for each set that the number is a part of:
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Estimations of Irrational Numbers
= “otes: For the following assignment,
= do NOT use a calculator.

Example: Approximate \_6_0
What two consecutive perfect squares is 60 in between? 49 and 64

The \'49 =7 and ~ 64 =8. Sothe \ 60 is between 7 an&@,. ?
|3

hg e w L-{
A8l I 1 S | | | @l
B\ T | | L o | LA |
V39 V50 V51 V52 V53 V54 /5556 V57 V58 V5960 \/_\/_2\/—\/_
Since 60 is closer to 64 @ will be closer to the 8. You might estimate 7.7 or 7.8. (If you use a calculator,

you will find that '~ 60 = 7.74597) Thatis a pretty close estimation.
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Approximate the following to the nearest tenth: petborof T 7
e Qw({ul’ll% B SR AR
yJBl  <Jas< 144 e B G i
% ‘L< \:1?<__7_ so | approximate: 2 (. 7T ((p IB/
(4.5 Y
9 qllllh‘lullm.{lg_illlllllllll\
2)m<\_,4<r§ %llll#lll@(]illlllllll/
4y <2a< 5 so | approximate: ?‘f,q {L‘:{’:—(
(2,5) 22
= 2 fdF
3)r<\6<JQ H%;HHHHH%}

/4 <\f'6,< %) solapproﬁatgpkzgq M’i“"( L
: ; &5 177 q
~ b e S

|
4)_“0’4_“'73‘ T+ 0¥ @t 7 (a3 5%
@ <+78< ﬁ so | approximate: _ & ¥.¥ @
j r (o :
g 0 S S
o AP APPSR

3 <\/—_Y< 9 so | approximate: __ ¢ 9. | w

Estimate the following square roots to the nearest tenth. You must show the two perfect squares that the
_-~mber is between. NO CALCULATOR"I 4
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